
FDR = 2.37e−39    β = 1.068
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FDR = 1.44e−34    β = 1.001
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FDR = 1.89e−32    β = 1.273
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FDR = 1.86e−23    β = − 0.953
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FDR = 5.32e−21    β = 0.961
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FDR = 7.21e−12    β = − 1.023
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FDR = 7.29e−12    β = − 0.669
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FDR = 1.09e−11    β = − 0.755
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FDR = 4.31e−10    β = − 0.76
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FDR = 6.36e−10    β = 0.989
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FDR = 7.81e−10    β = − 0.721
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FDR = 1.28e−09    β = − 0.682
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FDR = 1.32e−09    β = 0.641
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FDR = 1.62e−09    β = 0.605
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FDR = 1.77e−09    β = − 0.771
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FDR = 5.17e−09    β = 0.559
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FDR = 1.68e−08    β = 0.715
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FDR = 4.91e−08    β = − 0.775
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FDR = 1.08e−06    β = − 0.641
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FDR = 1.72e−06    β = − 0.661
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FDR = 1.88e−06    β = − 0.774
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FDR = 7.41e−06    β = − 0.632
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FDR = 9.05e−06    β = 0.668
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FDR = 9.82e−06    β = 0.759
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FDR = 2.49e−05    β = 0.686
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FDR = 0.000349    β = 0.582
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FDR = 0.000472    β = 0.543
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FDR = 0.000592    β = − 0.683
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FDR = 0.00065    β = − 0.838
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FDR = 0.00126    β = 0.628
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